Battle for Korsun Combat Example

German units are attacking two Soviet units in the city of Shpola.  There is a 3-8 infantry brigade of the 29 Tank Corps, and a 5-8 T-34/85 brigade from the same corps.  Attacking are a battalion of the 1/26 Panzer Battalion, with a strength of 5*, a 3-10 infantry regiment of the 11 Panzer Division, and a 3-10 Panzer Battalion also from the 11 Panzer.

The Soviet units fire first, since all German units are in the same hex there is no need to decide which stack to fire at.  Their strength is calculated as follows.  the T-34/85 unit has its strength doubled as it is an armored unit, and the infantry brigade has its strength halved, as it is firing on an armored stack.  So the Soviets have 2x5=10 points for the tank unit and 3x0.5=1.5, rounded down to 1 for the infantry unit.  This gives the Soviets 11 points.  

The Germans are the attackers, so they receive no benefit for terrain.  They do have the 1/26 Panzer unit which is equipped with Panther tanks, and is marked with an asterisk after its step strength.  The German player will use the heavy armor bonus on this unit, so he receives a beneficial modifier on fire against this stack.

The Soviet player finds the '8 - 11' column at the top of the Combat Results Table.  Since the Germans receive the heavy armor bonus, the column used to resolve the fire is shifted one column to the left, to the '5-7' column.  The die is rolled and the result noted.

The Soviet player was fortunate in his roll; rolling a two.  This gives a result of one, on the 5-7 column.  The German considers his alternatives and he can retreat the entire stack 1 hex, or he can take a morale check and absorb a one step loss.  The loss must be taken by the 1/26 unit since the heavy armor bonus was used.  Had he declined to use that bonus, he could have taken the step loss from the 11 Panzer tank battalion.   He could not take the loss from the infantry unit. 
German morale is 5, so he must roll a 1-5 to absorb the loss and stay in position to attack.  If a 6 is rolled, the stack must absorb the step loss and retreat one hex.  The German rolls a 4 and removes a step for the 1/26 Panzer Battalion.  He places a one step loss counter beneath that unit.  Since the German stack has passed its morale check, it may stay in place and attack.

So the German calculates his attack strength.  The 1/26 Panzer Battalion now has only 4 strength points remaining.  This unit is marked with an asterisk so when firing on the Soviet stack (which is considered armored due to the presence of the T-34/85 unit) the 1/26 unit has its strength tripled.  The 11 Panzer tank unit is doubled and the 11 Panzer infantry unit would be halved.  This gives the attack a strength of 17.  3x4=12 for the 1/26, 2x3=6 for the 11 Panzer tank unit, and 0.5x3=1.5, rounded down to 1 for the 11 Panzer infantry unit.

The Soviet units are in a town hex so they receive a one column shift to the left.  The Germans receive a one column shift to the right for the German tactical superiority shift.  Those two shifts cancel each other, so the German simply looks for the column of the Combat Results Table which contains 17.  That would be the 16-19 column.  He rolls the die and notes the result.

The German is also fortunate in his roll; rolling a two, giving a result of 3-1.  The  one is a mandatory step loss, and since the stack is an armored one, the armored unit must take all losses.  The three is an optional retreat or step loss.  Since the T-34/85 unit has five steps, it may try and absorb the three as losses.  If the stack contained four or less strength points it would be forced to retreat, as the combat result would eliminate the stack if it absorbed the result as losses.

If the Soviet player decides to try his luck with the morale check, the Soviet morale would be reduced to three from four because of the one step mandatory loss.  The Soviet player wisely decides to retreat the stack to reduce casualties, retreating  the stack three hexes.  The German may advance all of his units three hexes depending on the presence of enemy ZOC's.
